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1
What is the fourth term in the expansion of [image: image1.png]-1



?

	1)
	[image: image2.png]35y





	2)
	[image: image3.png]35)°





	3)
	[image: image4.png]- 35"

4





	4)
	[image: image5.png]-35)°

3







2
What is the fourth term in the binomial expansion [image: image6.png](x-2)°



?

	1)
	[image: image7.png]448%°





	2)
	[image: image8.png]4485t





	3)
	[image: image9.png]_448%°





	4)
	[image: image10.png]_448x*







3
What is the fourth term in the expansion of [image: image11.png](3x-2)°



?

	1)
	[image: image12.png]_720%%





	2)
	[image: image13.png]-240x





	3)
	[image: image14.png]720x%°

2





	4)
	[image: image15.png]1,080x°
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What is the fourth term in the expansion of [image: image16.png](2x-1)°



?

	1)
	[image: image17.png]_160%°





	2)
	[image: image18.png]_40x°

3





	3)
	[image: image19.png]16x°





	4)
	[image: image20.png]240x*







5
What is the last term in the expansion of [image: image21.png](x+29)°



?

	1)
	[image: image22.png]




	2)
	[image: image23.png]2y





	3)
	[image: image24.png]10y





	4)
	[image: image25.png]32y
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What is the third term in the expansion of [image: image26.png](2x-3)°



?

	1)
	[image: image27.png]720%°

3





	2)
	[image: image28.png]180x%





	3)
	[image: image29.png]5402





	4)
	[image: image30.png]_1080x?







7
The fourth term of the expansion of [image: image31.png](2x-3)°



 is

	1)
	[image: image32.png]1080x2





	2)
	[image: image33.png]5402





	3)
	[image: image34.png]720%°

3





	4)
	[image: image35.png]210x







8
What is the third term in the expansion of [image: image36.png](3x-2)°



?

	1)
	[image: image37.png]1,080x*





	2)
	[image: image38.png]270%%





	3)
	[image: image39.png]540%°





	4)
	[image: image40.png]1,080x°







9
Which expression represents the third term in the expansion of [image: image41.png](2t - y)?



?

	1)
	[image: image42.png]




	2)
	[image: image43.png]~ixty’





	3)
	[image: image44.png]6ty





	4)
	[image: image45.png]2xty
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The ninth term of the expansion of [image: image46.png](3x+ 29"



 is

	1)
	[image: image47.png]15Co(38)° (2)°





	2)
	[image: image48.png]15Co(3%)° (2)°





	3)
	[image: image49.png]15Ce(38) (2)°





	4)
	[image: image50.png]15Ce (38 ()
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What is the middle term in the expansion of [image: image51.png](x+3*



?

	1)
	[image: image52.png]




	2)
	[image: image53.png]250y





	3)
	[image: image54.png]6’y





	4)
	[image: image55.png]40y
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What is the middle term in the expansion of [image: image56.png]


?

	1)
	[image: image57.png]20x>;
0%y





	2)
	[image: image58.png]




	3)
	[image: image59.png]- 205>
0%y





	4)
	[image: image60.png]
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What is the third term in the expansion of [image: image61.png](cosx+3)°



?

	1)
	[image: image62.png]90 cos’x





	2)
	[image: image63.png]270 cosx





	3)
	[image: image64.png]60 cos>x





	4)
	[image: image65.png]90 cos’x
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What is the coefficient of the fifth term in the expansion of [image: image66.png](x+ 1)



?

	1)
	8

	2)
	28

	3)
	56

	4)
	70
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What is the coefficient of the fourth term in the expansion of [image: image67.png](a—ab)°



?

	1)
	[image: image68.png]-5,376





	2)
	[image: image69.png]-336





	3)
	336

	4)
	5,376



16
In the binomial expansion of [image: image70.png](x+y)°



, what is the coefficient of the term containing [image: image71.png]


?

	1)
	15

	2)
	28

	3)
	56

	4)
	70



1
ANS:
3

[image: image72.png]oA G




REF:
060619b

2
ANS:
3

[image: image73.png]oCs 2° 7% (-2)7 = 56x° - (-8) = —448%°




REF:
011308a2

3
ANS:
1

[image: image74.png]sC3 (30 (-2)° = 10 92°




REF:
fall0919a2

4
ANS:
1

[image: image75.png]55 C5(22)° (-1)7 = 20 8x° —1 = -160%°





REF:
061622a2

5
ANS:
4

[image: image76.png]SO @) =327




REF:
080208b

6
ANS:
1

[image: image77.png]50 (207 =3)% = 72047




REF:
011519a2

7
ANS:
1

[image: image78.png]5C5(20)° 73 (-3)° = -1040%°




REF:
081625a2

8
ANS:
4

[image: image79.png]G, (3 (-2)F = 1,080%°




REF:
080915b

9
ANS:
3

[image: image80.png]SOy (2 ()




REF:
011215a2

10
ANS:
3
REF:
081525a2

11
ANS:
3

[image: image81.png]LT = 620




REF:
080412b

12
ANS:
3

[image: image82.png]3
x b E
ﬁcz[z] -2 5 —gy® = -202%)’




REF:
061215a2

13
ANS:
4

[image: image83.png]5Cy(cosx) T (3)° =90cos’ x




REF:
060517b

14
ANS:
4

[image: image84.png]



REF:
010820b

15
ANS:
1

[image: image85.png]o C3a®(-48)° = =5376a° b




REF:
061126a2

16
ANS:
3
REF:
011016b
